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5.

Characteristic of wages —
(1) It is remuneration.

(2) This is given after following
the conditions of planning.

(3) It is payable for the work
done under planning.

(4) All of the above

To which Section the term
‘Employer’ is related under the
Act; The Minimum Wages Act
1948 ?

(1) Sec. 2(b)
(2) Sec. 2(d)
(3) Sec. 2(e)
(4) Sec. 2(h)

The Minimum Wages Act, 1948
came into force on

(1) 20tk March, 1948
(2) 15th March, 1948
(3) 20th May, 1948
(4) 25th May, 1948

" The objective of the Minimum
- Wages Act, 1948 includes

(1) Protecting
exploitation .

(2) Accepting the concept of
welfare state

(3) Establishing social justice in
the country &

(4) All of the above

Section-12 of the Indian Trade

workers from

- Union Act, 1926 relates with

(1) Registered office

(2) Amalgamation of Trade Unions
(3) Membership df;l‘\/[inors

(4) Dissolution o£ 'Prade Union
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In which Sections the health
related provisions of factory
workers are described in the
Factories Act, 1948 ?

(1) 11 - 16 Section

(2) 11 —17 Section

(3) 11— 20 Section

(4) 11 - 25 Section

Which one of the following is
considered as factory ?

(1) Cinema Hall

(2) Groundnut peeling process
(3) Plantation

(4) Kitchen

From the below mentioned
options, which of the following is
not mentioned under the welfare
provision in the Factories Act ?
(1) Ventilation

(2) Washing facilities

(3) First aid appliances

(4) Canteens

As per the Payment of Wages
Act, 1936, in railway factory or
industrial or other establishment
upon or in which less than one
thousand persons are employed
wages shall be paid before the
expiry of the

(1) Tenth day of the month

(2) Seventh day of the month

(3) Second working day

(4) None of the above

Which sections of Industrial
Dispute Act, 1947 deal with
Illegal strikes and Lockouts ?

(1) Section 24 and 25

(2) Section 22 and 23

(3) Section 26 and 27

(4) Section 27 and 28
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3

The strikers strike the work

without any prior notice is known
as

(1) Stay way strike

(2) Boycott

(3) Wild cat strike

(4) Work to rule strike

The causes for layoff includes
(1) Stock accumulation

(2) Shortage of coal

(3) Breakage of machines

(4) All of the above

What is the maximum term of
office of a member of the State
Commission in Consumer
Protection Act ?

(1) Upto 5 years or till the age of
67 years whichever is earlier.
Upto 5 years or till the age of
70 years whichever is earlier.

Upto 3 years or till the age of
65 years whichever is earlier.
Upto 3 years or till the age of
70 years whichever is earlier.

)
3
(4)

Which of the following statement
is incorrect for Retrenchment ?

(1) Job remains in case of
_ retrenchment.
2 In retrenchment the

relationship between the
worker and employer ends.

In case of retrenchment at
least one month’s notice has
to be given.

Disciplinary proceeding
terminate a person’s service
as a punishment.

“
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18.

The reason for the need of
Consumer Protection Act in India
is
(1)

To  prevent undesirable

business practices

(2) To increase the level of social
life of the consumer

(3) Awareness of social
responsibility

(4) All of the above

The total number of rights given
to the consumers in the
Consumer Protection Act —

(1) 8

(2) 6

3) 4

4) 5

A person is not a consumer if —

(1) hires or avails of any services
for a consideration

(2) buys goods without
consideration.

(3) uses of the goods

@

Which marketing concept is
based on the development design
and implementation of marketing
programms, - process and
activities that recognises their
breadth and interdependencies ?
(1) Holistic Marketing Concept
(2) Selling Concept
(3) Relationship
- Concept
(4) Internal Marketing Concept

Which of the following will not
be included in the social
environment of business ?

(1) Religion and its effect

(2) Contribution of Institutions
(3) Status

(4) Fashion and Fad

is beneficiary of services

Marketing
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In a demographic environment
marketer must be aware of —

(1) Income of population
(2) Cultural values
(3) Economic systems

(4) Corporate laws

Unethical marketing practices
include

(1) Bribery

(2) Tying Agreement

(3) Quality Defect

(4) All of the above

In the economic arena marketer
need to focus on —

(1) levels of saving

(2) opportunities for i.nﬂovation
(3) income distribution

(4) Both (1) and (3)

The process under which an
organisation tries to make its
products different from the
products of other organisations :

(1) Product Diversification
(2) Product Segmentation
(3) Product Differentiation
(4) Product Simplification

Which product strategy is used in

maturity stage of product life

cycle ? '

(1) Offer product extensions

(2) Diversity brands and items
models

(3) Create product awareness

and trial

(4) Maximise market share
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Meaning of FMCG is

(1) Fast Moving Consumer Goods

(2) Famous Moving Compulsory
Goods

(3) Fast Market Consumer Goods

(4) Frequent Market Consumption

Goods

Which one of the following is not
a part of convenience product ?

(1) Staple product

(2) Specialty product
(3) Impulse product
(4) Emergency product

A trademark can be registered
with the Aect —

(1) The Trade and Merchandise
Marks Act, 1948

The Trade and Merchandise
Marks Act, 1958

The Trade and Merchandise
Marks Act, 1968

The Trade and Merchandise
Marks Act, 1978

@)
3)
4)

Which one of the following is an
internal factor that affects
pricing decisions ?

(1) Demand of the product

(2) Ethical values

(3) Promotional efforts

(4) Cost of resources

When a marketer considers all

the costumers of the entire

market to be homogeneous, they

plan to complete the market work

for market differentiation

(1) Differentiated Marketing
Strategy

(2) Group Marketing Strategy

(8) Centralised Marketing Strategy

(4) Psychological Marketing
Strategy
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Value pricing method based on —
(1) Low Price Low Quality

(2) Low Price High Quality

(3) High Price Low Quality

(4) High Price High Quality

The discount in a well manner
way on performance awarded by
manufacturer to trade channel
members is classified as —

(1) Quantity discount

(2) Functional discount

(8) Seasonal discount

(4) Non-functional discount

An increase in the price of a
product due to added costs of
selling it in different countries is
known is

(1) Primary Pricing

(2) Price Escalation

(3) Reference Pricing

(4) Relative Market Pricing

Post offices selling insurance and

mutual funds is an example of

which of the following ?

(1) Vertical marketing system

(2) Horizontal marketing system

(3) Administration marketing
system

(4) None of the above

Which one of the following is a
type of retailer ?

(1) Supermarket

(2) Catalog showroom

(3) Specialty store

(4) All of the above

Direct marketing channel is also
known as the following :

(1) One level channel

(2) Zero level channel

(3) Two level channel

(4) None of the above
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Which of the following can be
argued as the reason for slow
growth of consumer co-operation
stores in India ?

(1) Weak organisation

(2) Non-co-operation of members
(3) Insufficient capital

(4) All of the above

Intensive distribution strategy is
suitable for which of the following ?

(1) New automobile

(2) Women apparel brand
(3) Soft Drink

(4) Blower

advertising aims to
stimulate repeat purchase of
product and services.

(1) Informative advertising

(2) Persuasive advertising
(3) Reminder advertising
(4) Reinforcement advertising

Which of the following is not

included in the main features of

the Dagmar approach to

advertising planning ?

(1) Advertising goals must be
fixed.

(2) Advertising goals must be

written.

It emphasis on the objectives

than Advertising

communication.

Advertising must be scalable.

(4)

Informal conversations between
friends concerning product and
services

(1) Stimuli

(2) Perception

(3) Word of mouth

(4) Learning
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The Delph1 techmque is related
with B

(1) Sales quota

(2) Sales forecasting technique
(3) Sales territories

(4) Channel of distribution

Wordplay, often used to create a
double  meaning, used in
combination with .a relevant
picture : :

(1) Advertising Wearout

(2) Advertising Resonance

(8) Advertising Adoption

(4) Advertising Culture

Which one of the following is not
a major mode of marketing
communication mix ?

(1) Event and Experience

(2) Word of mouth marketing

(8) Sales promotion

(4) Market segmentation

CRM stands for_

(1) Customer " °
Management |

(2) Customer
Management

3)

C))

Retention
Relationship

Customer

Management
Customer
Management

Retailing
Reference

Following is not a feature of

business market :

(1) less geographically
concentrated buyers

(2) Larger buyers

(3) Close customer-supplier
relationship

(4) (2) and (3) only
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(2)

the research
instrument for marketing
research —

(1) Questionnaires
(2) Qualitative Measures
(3) Technological Devices
(4) All of the above

Match the following bases for
segmenting markets :

Geographical () Age
Base

B. Demographic (i) Life
Base style

C. Psychographic (iii)) Climate
Base

D. Behavioural @iv) Brand
Base Loyalty

Codes :
A B C D

@ i 1 i v

@) 1 0 v i

@ i 1 v 1

4 i v 1 1

In which way an exporter

company can help n

International Marketing ?
(1) Import, Export Trade
(2) Re-Export Trade

(3) Both (1) and (2)

(4) None of the above

Which one of the following is an
advantage of digital marketing ?

(1)

Consumers can effectively
screen out most messages.

Advertisers may lose control
over online messages.

(3) Marketers can buy ads on sites

related to their own offerings.

(4)

Promotional strategies can be
copied.
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Features of Rural marketing
include

(1) Large and Scattered Market
(2) Heterogeneous Market

(8) Seasonal Demand

(4) All of the above

For social media marketing,

social media platforms are —

(1) Online communities and
forums

(2) Blogs

() Social Networks
(4) All of the above

Which of the following statement

is false ?

(1) Services - are neither
performed nor produced.

(2) Services are not equipment
based. '

(8) Services are intangible.

(4) Services cannot be stored.

What is green marketing ?

(1) Marketing of green coloured
products. P

(2) Marketing of products
approved by the green bench.

3

Marketing environment
friendly products:.and services.

(4) Both (1) and (2)

“Personal selling consists of
contacting prospéctive buyers of
products personally.” Who give
this definition ?

(1) Stanton .

(2) Buskirk

(3) Cundiff & Still
(4) None of the above
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58.
.discomfort

__ 18 a branch which deals
with the various stages a
consumer goes through before
purchasing products or services
for his end use.
(1) Consumer Perception
(2) Consumer Attitude
(3) Consumer Behaviour
(4) Consumer Values

Step between evaluation of

alternatives and purchase

decision of buyer —

(1) Attitudes of others

(2) Unanticipated
factors

(8) Purchase intention
(4) All of the above

Consumer
influenced by
(1) Social Class
{2) Self-concept
(3) Both (1) and (2)
(4) None of the above

situétiohal

behaviour is

According to theory
occurs when a
consumer holds conflicting
thoughts about a belief or an
attitude object.

(1) Self-perception

(2) Cognitive Dissonance

(3) Attitude

(4) Livelihood

is the process by which
consumer select, organize and
interpret information input to
create meaningful picture of the
world.
(1) Attitude
(2) Perception
(3) Motivation
(4) Learning
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A consumer’s predisposition to
accept or reject foreign made
products

(1) Consumer Conformity

(2) Consumer Ethnocentrism

(8) Consumer Imagery

(4) None of the above

The key stakeholders of supply
chain is

(1) End customers

(2) Shareholders

(3) Both (1) and (2)

(4) Supply Chain Partners

The purpose of supply chain

management is to

(1) Co-ordination and collaboration
with channel partners

(2) Increase the production level

(3) Enhance the quality of

4)

product
None of the above

Logistic is the part of supply

chain involved with the forward

and reverse flow of

(1) goods

. (2) services
(3) cash

(4) All of the above

Export Marketing involves —

- (1) Exporting

(2) Importing
(3) Creating Licensing
(4) All of the above -

A receipt for goods received by
the Shipment company is

(1) Bill of Exchange
(2) Bill of Lading
(3) Letter of Credit
(4) Drawback Bill
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Which one of the following is a

reason for the need of

International Marketing ?

(1) Growing demand on buyer
power

(2) Monopoly power

(3) Liberalisation of government

@)

policies
All of the above

External Macro International

Marketing Environment include

(1) Stage of business cycle

(2) Competition

(3) Shift in social values

(4) Aesthetics

. An investment fund investing in

an outside country is called
(1) Foreign Direct Investment

(2) Domestic Institutional
Investment

(3) Foreign Institutional
Investment

(4) Qualified Foreign Investors

Which one of the following factors
would came under the term
‘diversity’ ?

(1) Gender

(2) Cultural background

(3) Class system

(4) All of the above

Factors that contribute to
cultural lag include —

(1) Ignorance

(2) Sentimental factors
(3) Political factors

(4) All of the above

Social responsibility of business
towards shareholders includes —

(1) Fair Return on Investment
(2) Payment of dividend

(3) Security of capital

(4) Al of the above
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Ethical values of Bhagvad-Geeta
includes —

(1) Purity
(2) Forgiveness
(3) Peace
(4) All of the above

The system by which companies
are directed and controlled is
called

(1) Corporate administration

(2) Corporate culture

(3) Corporate regulations

(4) Corporate governance

Board of Directors of Corporate
Governance in India generally
comprise

(1) Professional directors

(2) Promoters

(3) Institutionally nominated
directors

(4) All of the above

The is the first formal

attempt to evolve a code of

corporate governance, in the

context of prevailing conditions of

governance in Indian Companies.

(1) K. Gopal Committee Report

(2) Birla Committee Report

(8) Samuel Paul Committee
Report

(4) Nadkarni Committee Report

The framework for establishing
good corporate governance and
accountability was originally set
up by the

(1) Nestle Committee

(2) Cadbury Committee

(3) Narasimha Committee

(4) Rowntree Committee
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Board responsibility in corporate
governance does not include

(1) Distance from shareholders
(2) Evaluate Board performance
(38) Evaluate Corporate Strategy

(4) Determine
Compensation

Executive

Who among the following has not
given a model on corporate social
responsibility ?

(1) Halal

(2) Ackerman

(3) Michael Trunk
(4) Carroll

Disadvantages to the social
responsibility of business do not
include —

(1) Reduction of profit

(2) Lack of accountability
(3) Moral responsibilities
(4) Reducing social skills

Which one of the following is a
strategy of corporate social
responsibility ?

(1) Uniformity

(2) Philanthropy
(3) Volunteerism
(4) Both (2) and (3)

Which is not a characteristic of
corporate social responsibility ?

(1) Eradicating extreme poverty °
(2) Promotion of education
(3) Environment policies

(4) Demote gender equality
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A written statement of policies
and principles that guides the
behaviour of all employees is
called

(1) Ethical dilemma
(2) Word of ethics

(3) Code of ethics

(4) None of the above

X wore an expensive dress to a
dinner party and then returned it
for a full refund through online
shopping platform. Which type of
consumer fraud is this ?

(1) Return fraud

(2) Friendly fraud

(3) Wardrobing

(4) Price and Arbitrage

An attempt by a member or
former member of an organisation
to disclose wrongdoing in or by
the organisation

(1) Crony capitalism

(2) Whistleblowing

(3) Promoter

(4) Negligence

The word ‘Ethics’ is derived from
which language ?

(1) Latin

(2) Greek

(3) English

(4) French

The first Descriptive book on

Business Ethics was published in
by .

(1) 1937, Sharp and Fox

(2) 1938, Aristotle

(3) . 19387, Jack Griffin

(4) 1938, Richard T. George
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When two brand names are
featured on a single product

(1) Double branding

(2) Co-branding

(3) Brand Loyalty

(4) Culture Branding

Which of the following is an

example of legal environment ?

(1) Advertisement of alcoholic
beverages is prohibited.

(2) Composition of family

(3) Consumer confidence

(4) Interest rates

The term ‘Intellectual Property
Rights’ covers which of the
following ?

(1) Industrial designs

(2) Plant and Seed Variety

(3) Geographical Indicators

(4) All of the above

Arrange the following events in

‘the order of their occurrence :

A. Indian Partnership Act
B. Monopolies and Restrictive

Trade Practices Act
C. The Employees’ Provident
Funds Act bt

D. Industrial Dispute Act
1) A,D,C,B
@2 AB,C,D
3) D,A,B,C
4 D,AC,B

. Which of the following actions are

not covered under the legal
environment of business ?

(1) Negotiable Instruments
(2) Property
(3) Bailment
(4) Tax Policy



92.

93.

94.

95.

96.

Featasaradid ¢
(1) = afufrm, 1970
) Esmnszaﬁﬁm 1997

(3) e arfufrm, 1995
4) %Txrsqaﬁﬁw 1998

St wegwu (Frameor e ) arffveam
e gTia fesam w2

(1) 234, 1972

(2) 239, 1973

(8) 234, 1974

(4) 237, 1976

$ Ushum forue) yem @2 7
(1) ama

(2) W9

(3) Gufw

(4) IR aft

Frafafea & @ a9 @ w@lawr sk
o w wie dem wrfy i Sify
e SseEi S mMias s

(V) qf, S R 9y § vy &

e 1 7 ot FEfm st &

e |

(2) 3% ghifeaa =0 & fau &% e
TR T ST A T 8 |

3) T ghifma 0 & f 5 adw
g o wiew ok SErewd
qhRae |

(4) S a+ft

T ewor R i fremer st
1980 % q&q TMeq Hrd FgHuT FREwT
@émmmmﬁ%mw%?
1) 9m2-15
(2) aT2-10
(3) aI3—-15
(4) a1 -13

I
|
|
|
|
|
l
|
|
I
!

20

92.

93.

94.

95.

96.

Which of the following is correct:r ?
(1) Patents Act, 1970 ‘
(2) Copyright Act 1997

(8) Trademark Act, 1995

(4) Designs Act, 1998

When was the Water Pollution
(Prevention and Control) Act
passed ?

(1) 28td March, 1972

(2) 23rd March, 1973

(3) 23rd March, 1974

(4) 23rd March, 1976

Environment Protection Act
provide the protection and the
prevention of hazards to

(1) Human beings

(2) Plants

(3) Property

(4) All of the above

Which one of the following is not
true about the objectives of
National Conservation Strategy
and  Policy Statement on
Environment and Development ?
(1) To prevent and control future
deterioration in land, water
and air.

To ensure that development
projects are currently sited.
To ensure that the
environment and
productivity of coastal areas
are protected.

(4) All of the above

)
®3)

The Central Pollution Control
Board constituted under the
Prevention: and Control of Air
Pollution Act, 1980 is mentioned
in which Section ?

(1) Sec.2-15

(2) Sec.2-.10

(3) Sec.3-15

(4) Sec.1-13
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97.

Under which Section of the
Environment Protection Aet,
1986 the term ‘Environment
Pollution’ is defined ?

- (1) Sec. 2(a)

98.

99.

100.

101.

102.

(2) Sec. 2(b)
(3) Sec. 2(c)
(4) Sec. 2(d)

In the year 2002 the Competition
Act was enacted replacing the
following :

(1) Copyright Act

(2) FERA

(3) MRTP Act

(4) FEMA

A barter type bilateral trade in
which exports and imports are
mutually linked is known as —

(1) Boost Trade

(2) Counter Trade

(3) Equity Trade

(4) Foreign Currency Trade

Which one of the following is
related with foreign market entry
strategy ? ‘

(1) Management contract

(2) Fully owned manufacturing

facilities
(3) Third country location
(4) All of the above

is the term wused to

describe the process of removal of

restriction.

(1) Localisation

(2) Globalisation

(3) Privatisation

(4) None of the above _
The Competition Commission of
India established under
Competition Act, consists of how
many members ?

(1) 4

@ 5

3) 6

@ 7



103.

104.

105

106.

107.

108.

¥

LA, AW 9 Tl gtE S

'Gﬁmaﬁﬂ%ﬁéﬁwm%

ﬁnﬁﬁaﬁqmuaﬁ%mﬁmqa‘f
27

(1) TISRIEAE | i

(2 AT eaE)

@) TEANSHEAR |

(4) T TifafgHan g

iR wfa g &

(1) SR | 3l mff
(2) AT

(8) forcfiar g

(4) et (1) 701 (2)

T Je4 qeh e & |
(1) SIS

2 s

(3) wif=s

(4) afis

Trfefga & @ S @1 Fem ed fEw
YT Y99 T WRAY A@HER A gei|
TR ?

(1) 3T Amarey

(2) e foremaeRly,

(3) WER e W

(4) S9N 9g HIEY

1) T " |
(2) #ra :

(3) i wify !
(@) e %
Wit et foeprafier srferaeen % i |
T ITYT I BT IR B |
(1) 3raER F ydten H& T I
(2) T HT e ;

(3) TRER

(4) T

22

103.

104.

105.

106.

108.

Which of the following is not triﬁei
about values ?

(1) Values are external.

(2) Values are not flexible.

(3) Values are pervasive.

(4) Values are means of perfection.

Example of
stressors are —
(1) More heat on workplace
(2) Traffic

(3) Financial problems

(4) Only (1) and (2

environmental

Yoga, exercise and
breathing are
management techniques.
(1) Cognitive

(2) Social

(3) Physical

(4) Religious

deep
stress

Which of the following statement
is not a salient idea and thought

. of Indian Ethos in management ?

(1) Atmano Mokshartham

(2) Atma Vindyate Viryam

(3) Paraspar Devo Bhav

(4) Jnana Chakshu Kaushalam

. Liberation from the cycle of life

and death means
(1) Nirvana
(2) Moksha
(3) Inner Peace
4) Sp1r1tual1ty

The most suitable type of
entrepreneur for a developing
economy like India is

(1) Fabian

(2) Imitative

(3) Drone

(4) Innovative .
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Which of the following is not a basm

" élement of entrepreneurship ?

(1) Invention

(2) Innovation
(3) Duplieation
(4) Adaptation

Which of the following is true
statement that entrepreneurship
plays in the economic
development of an economy ?

(1) It provides immediate large
scale employment.

(2) It helps to promote balanced
regional development.

(8) If promotes export trade.
(4) All of the above

Which of the following is not
correct about entrepreneur ?

(1) Executes decisions with the
concurrence of owner.

(2) Fixed salary and rewards
(3) Salaried employee
(4) Takes own decisions

! 112. Arrange the  entrepreneurial
‘ " “'process according to Nieman,
] Hough and Niew in a right order :
' A. Develope a business plan
, B. Identify and evaluate the
I opportunity
C. Start and manage the
business
D. Determine the resource
required
(1) BDCA
| (2 BADC
@ CADB
| ) CDAB
23
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Which of the following is .a
component of E-commerce ?

(1) B2G
(2) B2B
3 B2F
(4) None of the above

involves uploading relevant
information on a server hooked on
to the world wide web that allows
browsing and downloading
information anywhere,

(1) E-trading

(2) Data Delivery
(3) Web Presence
(4) Automation

E-commerce model includes —
(1) Membership model

(2) Private office model

(3) Market portal model

(4) All of the above

E-commerce ¢an be considered as
(1) A strategy

(2) A technology
(3) Both (1) and (2)
(4) None of the above

Disadvantage of mobile

commerce is

(1) Contact can be done globally

(2) Reduces the transaction cost

(3 Fraud risks and security
concerns

(4) Creates

channel

new  marketing
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118.

119.

120.

121.

122,
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118.

119.

120.

121.

122,

Section 2(J) of Indian Contact Act

1s related to

(1) Void Agreement
(2) Void Contract

(3) Voidable Contract
(4) Illegal Agreement

The object or consideration of an

agreement is unlawful if it is :

(1) forbidden by law

(2) fraudulent

(3) involves or implies injury to
the person or property of
another

(4) All of the above

Which of ‘the following is not
legally mandatory for wvalid
acceptance ?
(1) Communication of Acceptance
(2) Acceptance to be complete
and unconditional.
(3) If there is no communication
in the stipulated time, it is
considered to be accepted.
Acceptance should be done by
the person who has the right
of acceptance.

In which Section of the Indian
Contract Act the definition of
consent is given ?

(1) Sec.12

(2) Sec. 13

(3) Sec. 14

(4) Sec. 17

(4

How does a contract gets
discharged due to the operation
of law ?

(1) By Remission

(2) By Novation

(3). By Unauthorised Alteration
(4) By Rescission
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26

123.

124,

125.

126.

127.

128.

on -
When the consideration or object
of an agreement is partially
illegal, then the agreement
becomes completely
(1) voidable
(2) void
(3) zero - :
(4) None of the above

D

Under which Section of the
Indian Contract Act the
agreement is defined ?

(1) Sec. 2(h)

(2) Sec. 2(b)

(3) Sec. 2(e)
(4) Sec. 2(g)

Which of the following is not a
type of Existing goods ?

(1) Ascertained goods

(2) Contingent goods

(3) Specific goods

(4) Un-ascertained goods

‘Sale by Description’ is which
type of stipulation ?

(1) Express condition

(2) Implied condition

(3) Express warranty -

(4) Implied warranty

In Sale of unascertained goods,
the property passes to buyer
when goods are

(1) Ascertained

(2) Appropriated for contract
(8) Weighed and measured
(4) Both (1) and (2)

Handing over of keys of the
warehouse in which goods are
lying by seller to the buyer means
(1) Actual Delivery

(2) Partial Delivery

(3) Symbolic Delivery

(4) Constructive Delivery
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129. Which of the following is wrong

130.

131.

132.

“Vatatement about ‘Agreement to
“gell’ ?

(1)

©)
3)
(4)

The seller can only submit a
suit for damages.

It is condition free.

Seller can resale the goods.
Goods may be existing or
contingent in it.

The Companies Act, 2013 applies

to which of the following entities ?

(1) Insurance Companies

(2) Company governing
particular Act

(3) Incorporated Corporation body

(4) All of the above .

a

Which funds may be utilised by a

public limited company for

purchasing its own shares ?

(1) Security premium account

(2) Own Free Reserves

(3) Amount received -
specified securities

(4) All of the above

from...

What is the full form of DIN ?
(1) Director Introduction Number

s

¢t (2) Director Information Number - .
¢ (3) Director Identification Number

133.

(4) Director Independent Number

Acts held to be oppressive —

(1) An action is performed with
the aim of putting more risk

..(2) Work against the provisions

of Memorandum of

Association of company.
(3) Denying general principles in
the operation of the company
(4) All of the above
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134. Which ~ statement is . faise
regarding dissolution of a
company ?

(1) The company dissolution

135.

136.

order can also be placed
before the winding up order.
The dissolution of the
company is decided by the
tribunal.

With dissolution appointment
of company liquidator ends.

@)

3)

(4) The suit cannot be filed after
the dissolution of the
company.

Which one of the following is not
the content of the Memorandum
of Association ?

(1) Registered office clause
(2) Board of Director clause
(3) Subscriber’s clause

(4) Object clause

Which statement is incorrect
regarding the format of Articles
of Association given in Schedule-I
of the Companies Act, 2013 ?

(1) Table F — Format for
companies limited
by shares

Format for
companies limited
by guarantee and
not having share
capital

Format for
companies limited
by guarantee and
having share
capital

Format for
companies which
are unlimited and
not having share
capital

(2) Table H —

(3) Tablel -

(4) Tabled -
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137.

138.

139.

140.

A prospectus which does not
include complete particular of the
quantum or price of securities
included therein is known as —

(1) Shelf prospectus

(2) Deemed prospectus

(3) Abridged prospectus

(4) Red Herring prospectus

Which of the following traces the

characteristic of share ?

(1) Share is considered movable
property.

(2) After the issue share comes
in the definition of goods.

(3) Both mentioned above

(4) None of the above

Extraordinary general meeting is
a type of

(1) Secretary’s meeting

(2) Shareholders’ meeting

(3) Creditors’ meeting

(4) Auditor’s meeting

Which of the following statement

is included in the report of Board

of Directors ?

(1) Number of meetings held by
the Board of Directors

(2) Statement of loans

(3) Statement of
liability

Directors

" (4) All of the above

141.

The formal written record in
physical or electronic form of the

proceedings of any meeting is
called

(1) Resolution
(2) Motion
(3) Quorum
(4) Minutes
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142.

143.

144.

145.

Notice of statutory meeting
should be given with a period not
less than —

(1) 7 Days

(2) 15 Days

(3) 20 Days

(4) 21 Days

Within how many days each
company has to call the first
meeting of its Board of Directors
from the date of incorporation of
company ?

(1) 15 Days

(2) 20 Days

(3) 30 Days

(4) 120 Days

Which of the following are under
the general ‘fund of the Trade
Union ? '

(1) Expenses of Election

(2) Maintenance expenses
member

3) Expenses; of meetings
(4) Expenses of Audit

of

Number of Sections of Trade
Union Act is

(1) 22

(2) 23

(3) 32

(4) 33

. Which of’ the following Acts do

not apply to the registered Trade
Unions ?
(1) The Companies Act, 1956

(2) The Co-operative Societies
Act, 1912

(3) Both (1) and (2)
(4) None of the above
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147. Matéh the following :

148.

149.

150.

A.  AITUC @ 1955

B. INTUC @) 1920

C. BMS @i 1970

D. CITU @v) 1947
B C D

1) 1ii

2) i il iv

A

noiv i

i

i v i

1 il 1 iv

Which of the following statement

1s correct with reference to the

Indian Trade Union Act, 1926 ?

(1) A registered labour wunion
becomes a corporation body.

(2) It can be permanent or
temporary.

(3) Labour union can also be

created from a federation of

two or more labour unions.
(4) All of the above

According to the Wage Payment
Act, which of the following is not
considered a deduction ?

(1) Loss by suspension

(2) Loss due to demotion on
lower post

Loss due to
Increase

For accommodation

3) stop salary

(4)

Which of the following is included
under the definition of wages
given under the Payment of
Wages Act, 1936 ?

(1) Gratuity

(2) Dearness Allowance
(3) Residential Facility
(4) Medical Attendance
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